20194F “RIEWA" BIFZ (22)

%1% F18 2019411 H10H
1 455PA VS 3 FFH18BA
= A=
=\ RRIEIA RRIEIA =\
It : R . 2 S % TES
A=l 7 BEW Fa R 7. B
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 2C +1 110 1t 2D = 90 1
2 it x 3NT +1 -430 [ri] 5D -1 50 10
3 panyiic] [ri] 4S +1 -650 [ri] 4S +2 -680 1
4 E=] [ri] 1H +1 -110 ® INT = -90 1
5 it 1t INT = 90 [£3] INT -1 -100 5
6 panyiic] [£3] 3S -2 -100 [£3] 4Sx -2 -300 5
7 PWE=] [ri] 2H -1 100 x 2S -2 200 3
8 TS 1t 2S +1 140 1t 4S = 420 7
DATUM#it A
HEPA FF1ERA r. 5+ 12 | 21
EER/TEE 11 S¥Me/gER O ait 12 | 21
T EE/IERE O 2=/ T 11 V.P. 6.55 | 13.45




20194F “RIEWA" BIFZ (22)

91k %2 5 2019411H10H
2 $EFIRA VS 4 "K1gBA
= HZ=
FFFOBA KIBA KIBA FFFOBA
it : =% R RR= 1t : FRERHE IR BIKIE
g EHE 74 : FPLTRR g =R 79 . XUBZ
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 |wEl %= | 7nT | = [-1520] & 7s | = |-1510
2 |@dtl @ | 4s | = | 420| &® | 4s | = | -420
3 |%xm| & 55 | = | 450 | & 6S | -1 | 50 | 11
4 |wal & 2s | = | -120| &= | 4s | = | 620 | 11
5 |mt| & | 6H | 3 | 150 § %® | 3NT | 2 | 100 | 2
6 |Hm| & | 6NT | = | 990 | 4t | eD | -1 | 50 | 14
7 |l 46 | anT | 2 | 200 48 | aNT | -2 | 200
8 |wxl = | 4s | +3 | 510 & | 4s | +2 | -480 1
DATUM%it I E
FFFIRA CIERA v 5 ] 38 1
FERK/FHT 14 Friseih/ =R -47 ait 38 1
B s /X B2 47 KRR = /5heT iR 14 V.P. 19.37 | 0.63




20194F “RIEWA" BIFZ (22)

1R % 3% 2019411 H10H
3 FFIERA VS 5 1&5PA
H= A=
ARG T T ARG
It 2o P Tt A Pp—
e 7 EE o e - OEE
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 2Sx -1 -100 [ri] 4H +2 -480 9
2 it 1t 4H -1 -100 1t 4H = 620 12
3 panyiic] [ri] 5S +1 -680 1t 5Cx -2 -300 9
4 E=] x 3NT -2 200 [rif] 3NT +1 -630 13
5 it 1t 4S +1 650 75 5Cx = -550 15
6 panyiie] x INT = -90 [£3] 3NT -3 -150 2
7 E=] x 2S +4 -230 x 4S +2 -680 10
8 TS 1t 6H = 980 1t 6H = 980
DATUMiT T
FFIGRA y) 5|8 Y. X+ 49 | 21
RFMC/EHERE 18 AIdE/iGR=S -21 Aait 49 | 21
I/ L 21 ZFR/1ETNR -18 V.P. 18.04 | 1.96




20194F “RIEWA" BIFZ (22)

%1% %45 2019411 H10H
4 KIEBA VS i 2= 10N
= S
KB HEIRA H-EIBA KIERA
b : FRBEHE x:EE it : BER R MRS
R A TEE = 7 : FPETER
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 2S = 110 [£3] 2S +1 140 1
2 it x 3H -2 100 x INT +1 -120 6
3 panyiie] x 5D = -600 1t 4Sx -1 -100 11
4 WE=] 1t 3NT = 600 5| 3NT -3 -300 14
5 it x 5Dx -2 300 75 4S -1 50 6
6 panyiie] [£3] 4Sx -3 -500 [£3] 2S -2 -100 9
7 E=] x 5Hx -1 200 [ri] 3HXx +1 -930 15
8 | Xkl &® 3D +1 | -130 7a 3D +1 | -130
DATUM% it g
I ST 3 | 2 | =
FrEEHh/Z= 1R 9 BHE/FAm -19 ait a1 | 22
KRR = /5heT B8 19 ETE/T =& -9 V.P. 16.46 | 3.54




20194F “RIEWA" BIFZ (22)

%1% %5 5 2019411 H10H
5 1IPA VS 2 $EFIRA
A= A=
) AN FFFORA FFFORA ) AN
it : = IR R it . FEI K. ZF=F
B faleheE 78 XURZ B TS 79 : EIRE
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 3NT -1 -50 1t 3NT +1 430 10
> |mat] 4t | 2s | +1 | 140 | & | oNT | +1 | 150
3 panyiie] x 4H 100 [ri] 5Hx -2 500 9
4 E=] [ri] 3D -4 400 [rif] 3S -2 200 5
5 it [£3] 3D = 110 ® 2H -3 150 1
6 panyiie] [£3] 4S -3 -150 1t 4H -2 -100 2
7 PWE=] 1t 4HX = 790 x 4S -3 300 10
8 | Wk it 4H = 420 1t 4H = 420
DATUM% it g
y):45531 8 FEFIRA r. 3+ 15 | 22
WmiSs/ahE 43 FEH/TAS 49 ait 15 | 22
ZFR/1ETNR -49 R R/ XU 43 V.P. 7.23 | 12.77




